1.

1L

Ch 7. GETTING TO KNOW PLANTS
GRADE 6 BIOLOGY

Choose the correct option in the following questions:

Which is an example of a shrub?

(a) Spinach

(b) Mango tree

(c) Tomato plant

(d) Lemon

Which of the following type of plants has thick, hard and woody stem?
(a) Tree

(b) Shrub

(c) Herb

(d) All of these

. The plants which have branches at the base are

(a) Tree

(b) Shrub

(c) Herb

(d) All of these

. The plant with weak stem is

(a) china rose

(b) Sun flower

(c) Mango tree

(d) mint

A plant has weak stem and cannot stand upright. It spreads on the ground. It may be
called

(a) Climber

(b) Shrub

(c) Herb

(d) Creeper

State whether the statements given below are True or False:
Herbs are usually short and sometimes do not have branches.
In shrubs, branches arise from the base of the stem.

In trees, branches arise from the upper part of stem.

Match the following items given in Column A with that in Column B:

Column A Column B

(A) Creeper i. Green and tender stem.

(B) Herb ii. Need support to stand up.
iii. Spread on ground

Answer

a. A - iii, B-ii b. A - ii, B- iii

c. A—iii, B- i d.A-ii, B-i
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